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QUESTION 1 
Harold is the project manager of a large project in his organization. He has been actively 
communicating and working with the project stakeholders. One of the outputs of the manage 
stakeholder expectations process can actually create new risk events for Harold's project. Which 
output of the manage stakeholder expectations process can create risks? 
 

A. Project management plan updates 

B. Project document updates 

C. Change requests 

D. Organizational process assets updates 

 
Correct Answer: C 
 
 
QUESTION 2 
Which of the following types of IT organizational structures states that all IT resources are 
centralized under a single reporting structure with centralized resource allocation (staffing), and 
the organizational structure is built around the resource pools? 
 

A. Federated 

B. Centralized 

C. Project-based 

D. Decentralized 

 
Correct Answer: C 
 
 
QUESTION 3 
Paul has been asked to complete SWOT analysis for his solution scope. What does SWOT 
analysis mean? 
 

A. Stakeholder Weaknesses, Organizational Threats 

B. Strengths, Weaknesses, Opportunities, Threats 

C. Strengths, Weaknesses, Opportunities, Time 

D. Stakeholders Weaknesses, Organization, Threats 

 
Correct Answer: B 
 
 
QUESTION 4 
Which conduct stakeholder analysis technique is useful for identifying shared characteristics of a 
stakeholder group? 
 

A. Brainstorming 

B. Scope modeling 

C. Interviews 

D. Surveys 

 
Correct Answer: D 
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QUESTION 5 
You are the project manager for the ABC organization. Your current project has 75 internal 
stakeholders and 245 external stakeholders. Many of the risks within your project will only affect 
the internal stakeholders, but several of the identified risk events will affect the external 
stakeholders. Management would like to know the total number of communication channels in the 
project. How many communication channels exist in this project? 
 

A. 245 

B. 102,080 

C. 51,040 

D. 320 

 
Correct Answer: C 
 
 
QUESTION 6 
Mary is the business analyst for your organization. She asks you what the purpose of the assess 
capability gaps task is. Which of the following is the best response to give Mary? 
 

A. It identifies the causal factors that are contributing to an effect the solution will solve. 

B. It identifies new capabilities required by the organization to meet the business need. 

C. It describes the ends that the organization wants to improve. 

D. It identifies the skill gaps in the existing resources. 

 
Correct Answer: B 
 
 
QUESTION 7 
A project manager must have certain interpersonal skills to communicate with stakeholders and 
manage their expectations of the project work. Which of the following interpersonal skills has 
been identified as one of the biggest reasons for project success or failure? 
 

A. Motivation 

B. Influencing 

C. Political and cultural awareness 

D. Communication 

 
Correct Answer: D 
 
 
QUESTION 8 
Which of the following are the main objectives of the Performance measurement domain? Each 
correct answer represents a complete solution. Choose all that apply. 
 

A. It satisfies the customer's need. 

B. It defines value creation roles within IT. 

C. It meets out the goals. 

D. It statistically controls the process sequences. 

 
Correct Answer: ACD 
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QUESTION 9 
DRAG DROP 
Val IT is a suite of documents that provide a framework for the governance of IT investments, 
produced by the IT Governance Institute (ITGI). It is a formal statement of principles and 
processes for IT portfolio management. Drag and drop the correct domain ('Portfolio 
management') next to the IT processes defined by Val IT. 
 

 
 
Correct Answer: 
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QUESTION 10 
Della works as a project manager for SoftTech Inc. She is working with the project stakeholders 
to begin the quantitative risk analysis process. Which of the following inputs will be needed for the 
quantitative risk analysis process in her project? Each correct answer represents a complete 
solution. Choose all that apply. 
 

A. Project scope statement 

B. Risk management plan 

C. Cost management plan 

D. Risk register 

 
Correct Answer: BCD 
 
 
QUESTION 11 
Which of the following sub-processes of Service Portfolio Management is used to define the 
overall goals that the service provider should follow in its development based on the outcome of 
Strategic Service Assessment? 
 

A. Service Portfolio Update 

B. Strategic Service Assessment 

C. Service Strategy Definition 

D. Strategic Planning 

 
Correct Answer: C 
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QUESTION 12 
IT Governance is used by the management to regulate the Information Systems, to accomplish its 
objectives. IT governance forms an integral part of corporate governance. Which of the following 
elements are required to implement a good IT governance framework? Each correct answer 
represents a complete solution. Choose all that apply. 
 

A. Communication 

B. Structure 

C. Project 

D. Process 

 
Correct Answer: ABD 
 
 
QUESTION 13 
CORRECT TEXT 
Fill in the blank with an appropriate phrase. 
 
_________models address specifications, requirements, design, verification and validation, and 
maintenance activities. 
 
Correct Answer: Life cycle 
 
 
QUESTION 14 
Which types of project tends to have more well-understood risks? 
 

A. First-of-its kind technology projects 

B. State-of-art technology projects 

C. Recurrent projects 

D. Operational work projects 

 
Correct Answer: C 
 
 
QUESTION 15 
Which of the following essential elements of IT Portfolio Investment Management drives better 
decisions by providing real-time portfolio performance information in personalized views, such as 
cost/benefit summary, risk versus reward, ROI versus alignment, and balance bubble charts? 
 

A. Workflow, Process Management, Tracking and Authorization 

B. Portfolio Management 

C. Integrated Dashboards and Scorecards 

D. Portfolio What-If Planning 

 
Correct Answer: C 
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QUESTION 16 
You are the project manager of a large project that will last four years. In this project, you would 
like to model the risk based on its distribution, impact, and other factors. There are three 
modeling techniques that a project manager can use to include both event- oriented and project 
oriented analysis. Which modeling technique does NOT provide event- oriented and project 
oriented analysis for identified risks? 
 

A. Modeling and simulation 

B. Expected monetary value 

C. Sensitivity analysis 

D. Jo-Hari Window 

 
Correct Answer: D 
 
 
QUESTION 17 
Which of the following processes is described in the statement below? 
 
"This is the process of numerically analyzing the effect of identified risks on overall project 
objectives." 
 

A. Identify Risks 

B. Perform Qualitative Risk Analysis 

C. Perform Quantitative Risk Analysis 

D. Monitor and Control Risks 

 
Correct Answer: C 
 
 
QUESTION 18 
Which of the following processes are involved under the COBIT framework? Each correct answer 
represents a complete solution. Choose all that apply. 
 

A. Managing the IT workforce. 

B. Correcting all risk issues. 

C. Conducting IT risk assessments. 

D. Developing a strategic plan. 

 
Correct Answer: ACD 
 
 
QUESTION 19 
Mark is the project manager of the BFL project for his organization. He and the project team are 
creating a probability and impact matrix using RAG rating. There is some confusion and 
disagreement among the project team as to how a certain risk is important and priority for 
attention should be managed. Where can Mark determine the priority of a risk given its probability 
and impact? 
 

A. Risk response plan 

B. Look-up table 

C. Project sponsor 

D. Risk management plan 
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Correct Answer: B 
 
 
QUESTION 20 
What are the various phases of the Software Assurance Acquisition process according to the 
U.S. Department of Defense (DoD) and Department of Homeland Security (DHS) Acquisition and 
Outsourcing Working Group? 
 

A. Implementing, contracting, auditing, monitoring 

B. Requirements, planning, monitoring, auditing 

C. Designing, implementing, contracting, monitoring 

D. Planning, contracting, monitoring and acceptance, follow-on 

 
Correct Answer: D 
 
 
QUESTION 21 
You are the project manager for your company and a new change request has been approved for 
your project. This change request, however, has introduced several new risks to the project. You 
have communicated these risk events and the project stakeholders understand the possible 
effects these risks could have on your project. You elect to create a mitigation response for the 
identified risk events. Where will you record the mitigation response? 
 

A. Risk log 

B. Risk management plan 

C. Risk register 

D. Project management plan 

 
Correct Answer: C 
 
 
QUESTION 22 
The IT strategy formulation process consists of four steps to provide guidance to all who are 
involved. Which of the following steps are performed in the IT strategy formulation process? Each 
correct answer represents a complete solution. Choose all that apply. 
 

A. Decide how to get from here to there. 

B. Evaluate changes. 

C. Assess process maturity. 

D. Map out the big picture. 

 
Correct Answer: ABD 
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